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Part I- Choose the best answer for the underlines in the following.

1. The appeal to natural harmony was metaphysical, for it offered no evidence of what natural order

is.
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2. Incomes earned in producing goods for exports are largely spent in the home market, thus giving
a boost to home demand.
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3. The accountancy to which all phenomena of modern economic life are amenable is an
accountancy in terms of price.
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4. The values of scarce commodities are determined simply by interaction of the fixed supply with
demand.
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5. Net product is the value of the increment of product expected from employing a man minus the

additional expenses that would be involved in employing him.
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6. Malthus’ belief in the possibility of a ‘general glut’ was demonstrated to be well-founded.
FA81 8 oudipladd aud ye 0908 S pibioia wdye A

S G pabicia Ay 0 ola dadilal o yiwsS

051\ dsio WA= Jol Jluess



WWW.20FILE.ORG

RN ol el il Al
(\)& :J|§«05;wu’§ .&,‘M,@ma b‘}g&guns_,l uﬁj)‘ :(t)ulﬁ O pa> ’Mi’é’l %//\A\\%

—— Pl V- gl {aid3) ogejl e il v s g Wl e
@bl ysie dex 5 igipd ol

WAY-AF = S o5 a2 gy o o 425

! 3lone 33 oslizw!

7. The payment that artisans receive for their manufactures are their gross income, out of which

they replace raw materials and wear and tear of equipment, and feed themselves.
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8. He stated the circular flow of production, the idea that commodities exchange for commodities,
and not for money.
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9. But the added military spending might have to be obtained by cutting back on programs to
provide medical care to the aged.
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10. Commaodities must be physically capable of being transported.
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11. Inefficiency is encouraged because a buoyant sellers’ market blunts competition.
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12. With comprehensive national income accounting, this output of acid rain would have been
deduced from GDP?
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13. Attempts to demonstrate close correlations between a country’s growth rate and the proportion

of its national income that it devotes to investment have not always been completely convincing.
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14. It can be caused either by the exercise of trade union power or by minimum wage legislation.
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15. A skilled welder may have worked for 25 years in shipbuilding but is made redundant at 50 when
the industry contracts in the face of foreign competition.
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16. We must ask whether mergers are in the public interest, since mergers help to create monopoly
ower.
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17. This requires that each of the original companies were producing below minimum efficient scale.
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18. The merged company may be able to use its financial power as distinct from its power derived
from current market share.
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19. international credit-creating institutions
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20. High prices choke off the demand for oil- related commodities.
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21. Economic activity was organized on the assumption of cheap and abundant oil.
audi oo casilejls A& g oyl Ofi aga g S8 b guleaddl Jeldio I
S 9ulign oailojlun gl ,9 9 (1)) S 3 g2 g il ghune (B als (SLise 3 (LAl Callasd s
aadi oo (cALe Jleu (4 91 )3 9 O ) &S 8 g2 9 ubed) y SulalS) Cusllad 2
A3 yS oo cAube il ald g () Ol 3 g2 g ulenl 3 1y (SulaliSl Wi gula .9

22. It is not always easy in practice to tell the difference between demand-pull and cost-push
inflation.
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23. Competent and comprehensive research can in principle resolve many of the outstanding issues
in positive economics.
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24. Broadly speaking, this assertion happens to be correct.
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25. People respond to prices.
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26. Although the complaint about rising prices and balance of payments crises is amply justified, one
must approach the explanation of these phenomena with extreme caution.
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PART II- WHICH PART REQUIRES SOME REVISIONS?
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